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Explain the qoncept of poteutial GDP. Why is the long run

aggregate supply curve vertical ? 15
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Explain the main components. of the cunent and the capital

accounts of Balance of Payments. 15
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+1 sqflr{a r

Elucidate various theoretical explanations for the exislence of

unemployment. 15
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Explain the factors that affect exchange rate in an

economy. rs (
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Nore :- Answers may be written either in English or in Hindi;

but the same medium should b€ used throughout the

paper.
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There are eight questions in all.

Attempt any fve questions.

Each question carries 15 marts.
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l. Write short notes on any ,l"o o.s;7.s)

(a) Long run Aggregate Supply Curve

(b) Open Economy Multiplier

(c) Crowding Out Effect

@ Natur.l Rate of Unemployment.

t{ErftTferd { t f+-6' =i *
fefqq :

(a) dffiq A-e erffi em

(E) q-d qfq+qr d X'56

(T) firsGq 3rire vqFI

(q) *tqqrt a1 cl$fildn <{t

€E f*co-fr

2. Derive the IS curve. Explain the cause of shift in the IS

curve. l5
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What is the impact on equilibrium leYel of aggregate

output (income) and the interest rate in each of the following

cases : 15

0) Government increases nominal money supply

(r, Govemment decreases net taxes

(ii, Government increases its own expenditure. 15
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Explain determination of equilibrium GDP and Price level in

the short run. Show the impact of aggregate demand shock

on equilibrium CDP and Price level in the context of short

run aggregate suPPlY curve ? 15
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